a.) Identify whether the sequence is arithmetic. geom. o

3 ¥ -, ~a etric i ;
b.) If ar'lthmet'lc or geometric, identify the comn%on diﬁ'er;nozeniﬂ:c:r ) rati
c.) If arithmetic or geometric, write a recursive rule. e
d.) Write an explicit rule.

e.) Find a;3.
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5.) Find the sum of the first 55 terms for the series: 4 +11 +18 +25+ ...

A/’/%;)/77(/ 7/7:./ AL = / (>
ér) o /’(’? /)

e 2
= -204% 588

6.) For the given series, 105 + 111 + 117 + ..., find which term gives the sum of 6336.
i< Jos+ bla-1) - g
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B+ 2045 )2 677 L
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7.) Find .
) Find “n” if you know that S, = 59,046 in the series 6 + 18 + 54 + 162...

é‘:‘d__ (-)/?’)f: S

I~ 4
2 -/ ;
&g 7 f o / = -5
» e -y S /LJ--/ C = é) el
A= -3 =
fi,(/—f‘”
= /‘f@f} =
2 / "‘J @
8.) Find: ,,Z;;(_z"z”") = _J5, - s v
2=/
Z 3 % 5 ¢ 7 4

-y @ + 3 + 74 p =y y 30 ¢+ —-49 +~7ZJ

9.) Write the following in summation notation: 5+ 10+ 15 +20 +

Zsn
K=

... +60.

10.) A runner b j 5 / !
third week s}rle eng?traulung:y I’unmi:lg 3 miles one week. The second week she runs a total of 5 miles. The
runs 7 miles. Assume this pattern continues. /fr 2
P me Fr¢ A=

a)Howfarvnllsherunmthetenthweek‘? "o Fe2(n-1)
Oy - 3+204)= 21 mete

b.) At the end of the tenth week, what will be the total distance she has run since she started training?

J?G; /0(3+Z/)

-7

c.) Express the total distance with summation notation.

11.) Use patterns in Pascal’s Triangle to complete the next row.

(YTl

/ /Z plo 220 775 792 }I14 19 445 910 LY
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I"'f < 7
/0 51/
Fmd the coefficient of the x*y* term in the expansion of (2x - ¥y’ / /C‘, §;5 ,,zo / 5 2 t
/O (,Zx) (" /)
@Ix*y*
13.) Fully expand and simplify the binomial: (2x + y)°. 3 (yz) » /5[Z/<)f-)( )/7)

(2:)°(y V% (2x)(y) * /5(2207(/ £) + 20 (Zx)

+(p/zx)(y>5 # (Z)\) (\/> _).;; /‘Z)(———-:‘\/
N +

-

14.) Find the fifth term (simplified) in: (3x — 2y)

,Zj/ / )(%x) (Zy)
/L=’7 | )
o= (3x) Fs(A7x ) (/by
b = (Z)/)

4
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